SuMPO EPD SUMPOIRIESAINTOI S A

SE““EOD - AR AY AT S IR S
EPD S1TIBREEE (EPD) AT R E-148
VERIFIED KANDA SQUARE GATE

B ES ¢ JR-Al-24663E https://ecoleaf-label.jp

> FUJIFILM

Value from Innovation

EITML EVRR A /N-Y3UkR At
FUJIFILM Business Innovation Corp.

A3 B/ OOEEH (BEK)

A3 Monochrome Multifunction Printer

(Remanufactured Product)

SE—— ApeosPort-V 5080 N R(for JP)

ATty bFvvF LA FEECEFENEEA. BEIff(FApeosPort-V 7080 NTI M, ERRIFApeosPort-V 5080 NEEIFENTWVWET .
ApeosPort. Apeos. Apeos O, HKU ApeosPlus (F. BELXITMILAESRAA I R—2 3 MRS OB FEIELCLEIZETT .
Xerox. Xerox O, SKUFuji Xerox OT(F. KECDOY IR HOEREIZEIZ(IHETT,

HEBN ZRES JR-AI-24663E
HEAPCREFS  PA-590000-Al-08
E1BHEY
PCR% EfRAH IiER
HEEMNRERE NG1= 2025478 8H
[ F533) O RS B4 REIFE1EHEH 2025458138
OEMPEZE QEE Q@@ @OFER - #iF WA IAT LEREE A
OFEZE-UY17) RIAES 2025-FB-EL-010
MEITAShEAR 2030458120
HROBR, TELEK-FET PCRLE1-DEHE
Az : ApeosPort-V 5080 N R REBE 2023 98 1H
FEMLK  B/0EEE EPAR) FER g B2
FIRIZEE @ £/70 55ppm (A4 LEF) (B — R EE AT AT T IR )
BAATYIX  : A311x17" BE=HIRIEE* 1555 &7
12x18"(FZELL 1A NEBIRIES
pOVIValSyESY
T R AE/ADF (B 7S B Bh s A ) ISO14025(CHt o AT B R UT -4 DIh L UIAREE
ORER WHLER
*YAF LREIE B EENORIDB AL, VAT LRI LT LBESD
2 BETH,

Eluahtse BEIAMIWALESRRAAINR—>34KEHt
EamilXAREHFSUV6T HLIE
https://www.fujifilm.com/fb/

F5ES © JR-AI-24663E



SUMPO SuMPO EPD SUMPOBRIEININTOI S L

E D _ — AR A AT T IR E RS
o .0 H4TNBIEEE (EPD) HRHBTREXAME-14-8
MIEIRIEN ET KANDA SQUARE GATE
HZREE JR-AI-24663E https://ecoleaf-label jp
171V VR EFHERE R
. o . 5 - M
FREREERE | LSRR TR B o BEEE R
[MEEH-EE kg-COzeq 3.24E+02 4.51E+01 4.59E+01 3.02E+02 2.75E+02
AV BHEIE kg-CFC-12eq 4.20E-05 7.26E-08 2.24E-08 2.65E-06 3.58E-07
EREL kg-PO,132-eq|  1.55E-02 1.21E-03 1.43E-04 9.84E-03 8.03E-04
[izqc 2|4 kg-SO.eq 1.31E+00 3.06E-01 7.37E-02 1.58E+00 3.79E-01
HAZAXII U kg-CzHaseq 8.13E-03 4.66E-05 4.96E-04 2.36E-03 1.93E-03
FEYE RS- kg-Sbeq 4.58E-01 1.69E-04 1.06E-05 1.08E-01 1.66E-04
F1TT1I WA IRY ) S BEEER
—REBROERICEETZIEIE
ERERER | MARE | RBEE ﬁ’?n';:ﬁ BEE
"X
BAERRE—RER MmJ 1.82E+01 6.44E-03 1.92E+02 6.91E+02 4.70E-02
EBERHE—RER MJ 1.18E+03 491E-01 2.76E+00 5.96E+02 2.43E+00
BEAE—RIRIF- MJ 9.13E+02 3.88E+02 7.60E+00 1.82E+03 2.94E+02
FEEEREE—RIRIF- MJ 5.81E+03 1.57E+03 5.22E+02 8.06E+03 2.01E+03
BKDHEE m? 3.48E+00 3.33E-02 2.02E+01 7.30E+01 8.55E-02
HEFERICEIT 2EMIELR
-BAREEAETERELTEELELE,
EAEPHR) DY FUATEELTVET,
‘RO EFERMISSEMTY,
fER - MR PSCH I 2ENRI RO amEEENF A,
ERBOENG. ERIRINF-AT-T0J5LVer3 28 (SR> TClELETECEE TICEELELE,
BRI ELIL, 451,200 T,
1/4 x32 (Y37/8) x 47 (1) x 5 (B) x 4 (B) x 12 (7 B) x 5 (&) = 451,2004%
ZD Mt DRERERR
Ppr- = <] O vz . H == = d 5 £
mE-9E (ERES) Bifi 15H CAS No. ERE
L@ 110 kg - -
Sus 53 kg - - -
TIVIZUA 0.25 kg
ZOft &R 7.0 kg ERALEZRT-90EZXA
T5AFvY 44 kg FREAI(E, LCIT-FR-RIDEA Ver3.4, SUMPOREESNINTOT S 0BT -5
4 20 kg Ver.1.15&ERALTVET,
A3 25 kg
- 11 kg
FLEE BEEMR 6.6 kg AERIRFTEROEAFHAERNOEURL S REBMNBTI LY, REST
ZE{f SR 12 kg BIRZERH>TWET, B RERERE ICBVWTERSELTEELTVET,
Z0fts 9.1 kg

OT-YEEDH L. PCRELUETE - EERBESHBL TGN,
OLLERIIDVTE. B - EERRBICREINLZGERELLSGELLYROONEEA,
(8% URL : https;//ecoleaf-label.jp/regulation/)



